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X B #f =
miE(m) REAREFH(F) =
EE| RER | mETF 4 XF BARBZDIEHE EHRES
. 55 4% 7l X 5 4 SN St
1|F= AREE B mAT 5 SERIHh D ERIE| 1 -1906 19,906 10,316 17 7 76 41
2 = AR %5 BRI ET | — 5] S{ERHMDERIE| I -1909 13,152 7,094 6 3 54 44
3 |#FE AR %S B HET | FANE ZtaRith D EREE| 1-1934 12,466 3,880 16 11 23 42
4 |#H= AR %5 B T | S 4 SERIh O EREE| I -1947 10,960 6,352 14 3 52 35
5 = R %8 B T | S 4 SERIb D EREE[ T -1950 19,750 7,220 15 1 54 49
6 |3 AR %5 B EI T | B om ZtaRith @ EREE| 1 -1951 6,276 1,626 39 11 15 46
1\5= AR %5 B EI T | B R Atafih o EREE| 1-1955 33,126 11,311 101 44 34 50
8 |#E= AR %S B SmAT | KB SERIh D ERIE| T -4690 6,376 2,105 9 4 16 43
9 |Fh= R %5 B i T | S 4 SERIh D ERIE| T -4705 12,527 3,879 3 2 24 41
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10 |$1E= ANEE B HET |hEr < THER 8-421-1-071 70,768 281 40 0 0.19
11 \$= AN B HET |hEr A< THER 8-421-2-083 52,409 75 34 0 0.02




